RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwyg, TX-4427

P R O D UCT S, | N C.

8811 West Market Street
Colfax, N.C. 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
International Residential Code [IRC), Secfions R301 & R613 and the 2006
International Building Code {IBC), Sections 1405.12, 1409, 1714.5, 2403 and 2404
{including Texas revisions} subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protecied with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
anglysis,

TABLE OF CONTENTS

SHEET# DESCRIPTION

1 Typical elevations, design pressures & general notes
Lock details {(Hoppe HLS 9000}
Door panel details {Fiber Classic - flush glazing)
Door panel details {Smooth Star - flush glazing)

Horizontal cross sections
Yertical cross sections
Frame anchoring

b B o O IO T N (L ]

e 37.5" MAX, FRAME WIDTH ——=

81.94" MAX, O.A. FRAME
HEIGHT [INSWING)

81.125" MAX. O.A
FRAME HEIGHT [OUTSWING)

FIBER CLASSIC

+45.0

-45.0

+40.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. $104123

P.O. Box 230 Vairico FL. 33595
813.658.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By
WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

-40.0

NOJ DATE

REVISIONS

oate: 1/08/14

SCALE:  N.T.S.

SMOOTH STAR

+30.0

-30.0

+40.0

-40.0

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—-4427

SHEET 1 oF 7

© 2014 R.W. BUILDING DONSULTANTS INC.



ON| SINVALATIASNGOD aNiging ‘Mm'y #1102 @

SNOISIATY
ZGBLi—3 # NOUVMISIORY 40 ivOIdUNID i
SHIINION3 TYNOISSIJONd 4O OHv0sg SVX3L 80%%<M% v.w,%%% H) A" dvad [ONP| | wln| ~ 7*
LBLE'SGO'CLE 'ON eUOUg - NS Y s
SESEE 14 OOWIDA OTZ XOH ‘O'd \Su@. 'ATBNESSY ¥O idvd | 2 p Y|°
"ONI *SINVLINSNOD ONIGING ~ L V_A 2~
YaNANI TlalE|E|E R
cZivoL# 'I'd SYXRL Bl lg| g w L
Ird PSS ‘4 uopul] :Ag pesndesy sjuewnaog 19N00Nd 518 z 5% 5
- STEr P STE
— .19'E
(-]
=
| b ey m <
1 = n
5

HOPPE MULTI-POINT LOCKSET
Manual Tongue/Shootbolf

217"

—
£
O
g
=
—_
=
z
18]
[+
(23
Q
T

#8 X 3" PFH WS \x
by [

[ :Nw. m ol _

1
©
©
9
LATCH & DEADBOLT STRIKE PLATE

1.35"

: % C—1] mv
00—l

MULTI-POINT STRIKE PLATE

LOCKSET

]

1

IHOEH ITANVH

1

THOEAH TIVHIAO

MANUAL TONGUE/SHOOTBOLT GEAR SYSTEM

£7 'Bmprgz-£ - 1\sBumeiq DaMY "\ L9T 4d\OOLT - T09T foad\siapiog 1wafoadisiaafond - vy



ui
o R
e ] 75" —aem] P 0
L EXTERIOR Y —— €2 8 o
‘ TOP RAIL Ay R 5T
([COMP.) - st ENy &t
c i b - =
f T sé IR
55 HIf 3¢
= ) .
N 3 Yy FIBERGLASS SKIN | 3 >0 @é
% ] n [.075" MIN.) & R~ g2
‘ \ = & g *y
e i o 282 u
e % S g o
3 =40 O
INTERIOR LATCH STILE ¢ Ads §§
HINGE STILE (LVL) = Sg m%
(WOOD) 5 g
E & BS
/"1 "\ HORIZONTAL CROSS SECTION 2
\3/ =
]
]
3
N
:"'I
=r
N L3
& Lo
35.81" MAX. — 2 |32
PANEL WIDTH B EESE
B %2
26.0" MAX , _ I & ol 8O
D.L.O. WIDTH /4 2 ol
- 2l |F 2
3 EXTERIOR INTERIOR - M~
&
9/16" GLASS
BITE
& EXTERIOR o 11/16'THK. GLASS "
8= .3 S :
85 20 X 1 \ %
32 =z 7 3 ;///”gm?W%D FOAM CORE a
o 20 — A?\?\ ~
=2 o5 (POLYURETHANE
2L A _: Syp—-——- AR SPACE 1.9 PCF MIN.)
R T 1/8" TEMPERED
GLASS
ALUMINUM SPACER
INTERIOR . w
QSO SEALANT X 5
BOTIOM RAIL T .
b () GLAZING DETAIL (COMP.) 1 S
1 oate: 1/08/14
‘ B SCALE:  N.T.S.
THERMA TRU - Fiber Classic Panel DWG. BY: JK
Flush glazed
. CHK. BY: LFS
(fiberglass) {2\ VERTICAL CROSS SECTION e

\3/ TX-4427

SHEET _3 ofF _7

R\A - Projects\Project Foliders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwg, 3.7

© 2014 R.W. BUILDING CONSULTANTS INC.



ul
R S — ey
394 EXTERIOR - e 0
= 118" — i ¢ o B3
TOP RAIL g% 8 v
[COMP) ™ ¥ Sy g8 &
we o T gk My
f . L T =§ g5 3
8 2 ZZ
< i 2 2E8 gg
2 FIBERGLASS SKIN ] 5 5§89 ﬁﬁ
1 (075" MIN.} = g>n g
: ox
* l ] \ o % 9%. go
m d n.l&l
O Xz W
? ZR, 6L
INTERIOR E 3%z 08
LATCH STILE £ 7 2E Y-
(WOOD/LVL) HINGE STILE - g h
(WOOD) g g E
E 8
@ HORIZONTAL CROSS SECTION SN
4 o
0
3
DY o3
= I
Lg
35.81" MAX / s |, oF
PANELWIDTH | . " 3 32!
i o &%
3 b
26.0" MAX B N ) RS
D.L.O. WIDTH & «| SE
2 2l S
4 EXTERIOR INTERIOR g 3 3
-~
m
9/16" GLASS
BITE
o EXTERIOR e 11416 THK. GLASS
O [ v
o} > T
a5 20 X 1 1/8" TEMPERED 5
% gg v 4 — / GLASS FOAM CORE ] %
2 g = i{ S ARSPACE [POLYURETHANE - | L
3 T 1/8" TEMPERED 1.9 PCFMIN,
GLASS
ALUMINUM SPACER
INTERIOR UMINUM SPAC
Q'SO SEALANT g
5 s
BOTTOM RAIL < S
C) GLAZING DETAIL (COMP)
b . o)
prd
] at | oate: 1,/08/14
THERMA TRU - Smooth Star Panel SCAE. N.T.S
Flush glazed —
{fiberglass) DWG, BY: JK
m VERTICAL CROSS SECTION cHK. BY:  LFS
4 DRAWING NO.:
TX-4427
SHEET _4 oF _7

RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwg, 4.7

@ 2074 R.W. BWLDING CONSULTANTS INC.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1673\D. RWBC Drawings\TX-4427-28.dwg, 5.7

b
| /
4
/

N

\_5/ | X "ﬂ e
. MULTI-POINT LOCKSET:
[ HOPPE HLS 9000 TONGUE/SHOOTBOLT

/
Va
/
|
’ ‘ CORNER PADS {TYP.)
/ .
1/4" MAX. o1 N o
EXT SHEATH?NGSHIM A —~— CSINK (2 (34N CISINK —eri
: (TYP.) w \U\U v Ik
X FRAMING e #10 X 2.5" PFH WOOD SCREW #10 X 2.5 PFH WOOD SCREW ==
(G >= 0.42) M\ e -
JAMB B
o ENDURA WEATHERSTRIP ENDURA &i@g}iisgg
(QEBD/PE 650}
EXTERIOR EXTERIOR
S -;\\\ \\\\

DRYWALL —/
#8 X 2.5 PFH WOOD SCREW
#8 X 3/4" PFH SMS

\— INTERIOR
#8 X 1" PFH SMS

4" HINGE

1/4" MAX,
SHIM SPACE

=

Y

R e
e

T. SHEATHING

a

T T

INTERIOR

\~+ #8 X 2-1/2

m HORIZONTAL CROSS SECTION
W Inswing shown - Qutswing also approved

LATCH STRKEP

"PFH WS
LATE

2X FRAMING
(G >=0.42)

\‘ DRYWALL

1]
a g
g n
Z8 w  §3
Ex a nk]
i .8 Z-
B Om <3
g Z S
W d{;'-'-'
L .
3 o
s 0-32
Elg ggg oo
> Sge pk
35n fis
Z0
. 8R. g3
& GN oW
x £ x
o Qozh_
z w
i 5% %
a =ge 2
' RLE %k
o og
= of
B
R 8
o
3 [
[+]
a
vy
25
{—-
< =D
84 ;- L]
> b
[ mﬂ
= = Xy
tl Ul ©OWw
3 =g
< O
b n:
[
= o]
o &
o t
>...
m
v
=
o
n
>
]
x
e
<€
a
O
pd

oate: 1/08/14

SCALE:

N.T.S.

DwG, 8y:

JK

CHK. BY:

LFS

DRAWING NO.:

TX—4427

SHEEF 5§ ofF 7

© 2014 R.W. BUILDING BONSULTANTS ING.



] 2X FRAMING an
— o
{ >(— (G >=0.42) 4% ®
il . ™ Ee 0 ]
1 i £ 2 2
L By dwW B
EXT. SHEATHING |~ DRYwaL w® 2oy @
\ ‘ / sg g2 S
i o B 0o
’ - 5 5i8 3
# ) o9
‘ “ L b— #10 X 2.5" PFH §2£ i
i ' WOOD SCREW gu. &
1l # [+3
SHi]r:fsxA?:xE' / 237 5
\ . V. g C a
nZo 3 20’% E:
vy
SGE 3

DOOR PANEL —\

ui

\~ HEAD

Documants FPrepared By

CERTIFICATE OF REGISTRATION # F—11852

/ ENDURA WEATHERSTRIP 2
{QEBD/PE 650} 5
A\ 7
EXTERIOR INTERIOR = 0
2 |38
2 |23
/“1"\ VERTICAL CROSS SECTION | I
U Outswing shown inswing a5
also approved o « E
3 S| w
S =
o =
[V a
INTERIOR 1 30p PANEL EXTERIOR EXTERIOR /] INTERIOR EXTERIOR // INTERIOR >
ENDURA WEATHERSTRIP k
(QEBD/PE 450} DOOR PANEL DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP
DBK-R DBK-AC
%SBE‘tRs]ESSF%gTSwNG) ENDURA THRESHOLD [ ) %\ ENDURA THRESHOLD ( ’ 2
RIS 5‘; NOW”) (Z-SERIES INSWING ADJUSTABLE) (Z-SERIES INSWING ARTICULATING) S
d B . LAI4565EN [showny) ZACABE5FEN (shown) g
{w/ decorafive nosing) ZAI4565FEN {w/o decorative nosing} IAC4565FN (w/ decorative nosing) o
% &\ \ :E‘ x
s g
5 o
v S
=

#10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW

#10 X 2.5" PFH WOOD SCREW

oate: 1/08/14

" " 1/4" X 2-3/4° ELCO OR 1/4"X 2-3/4" ELCO OR SCALE. N.T.S,
1/4"X 2-3/4" ELCO OR

[TW CONCRETE SCREW TW CONCRETE SCREW TW CONCRETE SCREW owe. Br: UK

CHK. BY: LFS

/"2 VERTICAL CROSS SECTION ("3 "\ VERTICAL CROSS SECTION / &\ VERTICAL CROSS SECTION I

w Outswing shown \6_/ Inswing configuration \y Inswing configuration

SHEET 6 ofF 7

RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwg, 6.7

© 2014 R.W. BUILDING CONSULTANTS INC.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwg, 7.7

2,2
EOE
520
3
< 8
SEE HINGE :
\
DETAIL 1 T
5
&
—lf %
3
pak
SEE HINGE
DETAIL 2
B -
EH
HINGE JAMB
FLOOR SUBSTRATE MATERIAL (TYP.}
CONCRETE [MIN. 3000 PSI)
WOOD (G >= 0.42]
CONCRETE ANCHOR NOTES:

i. Concrete anchor locations at the corners may be adjusted fo maintain the min.
edge distance to mortar joinfs.

2, Concrefe anchor locations noted as "MAX. ON CENTER" musf be adjusted fo
maintain the min. edge disfance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded,

2X framing (by others)

|y ——

3. Concrete anchor table:

e | MIN. | MIN.CLE
. ~ | EMBEDMENT [ "= 70 2
TAPCON® | 174 1-3/4
ELCO (L] 1 ” i}
ULTRACON®| 1/4 1-3/4 L 3

I /!
DETAIL 1 —
=
#10 X 2.5 PFH
N WOOD SCREW
(TYP. @ HEAD
AND JAMBS) !
L | 1
3E
==
O
I s [
| N =0
#10 X 2.5" PFH WOOD SCREW
174" X 2-3/4" ELCO OR
FRAME ANCHORING ITW CONCRETE SCREW
OX0 (TYP @ SiLL)
A #8 X 2-1/2" PFH WS
//
e | & <
i r. = .‘
#8 X 1" PFH Wsé:. i _;:_H; £8 X 3/4" PFH WS
“‘-— il 1
~— 4" X 4" HINGE
\

HINGE DETAIL 1

Shootbolt Strike Plate @

Head Jamb

/

A\

f

&
\

#10 X 2.5" PFH W3
DETAIL 1

N ,
P #8 X 2-1/2" PFH WS
o LI |
« = |
[ 4" X 4" HINGE
A
\
HINGE DETAIL 2

ui
oy
s n
2o o
- 0 WK
£ 2 ue
[T . P
o gM 87
- Zu
i N~ i
B2 w
gg o°! dz
TH °e 56
g EED 2=
X «4 5o nk
A>H ﬁé
9 -
- Orlo'.lm 8(_.9
& ON- au
o @
o ngh_
e £h0, OX
5 = -
& 502 g
e oo 56
= of
)i
P 7
£ 0
3
Q
o
It
]
=
S
=
o oy S
> > Q
[ |
= @ <
Lok ﬁ'—u
A 3
<] &
o [
ks o
8 (@]
3! &
& <
a o
>...
[e4]
19)]
=
o
v
>
Y]
84
LJ
<
O
o
=z

oate: 1/08/14

scalE: NLT.S.

DWG, BY: JK

CHK. BY:

LFS

DRAWING NO.:
TX—-4427

SHEET 7 oF 7

© 20714 R.W. BUILDING GONSULTANTS [NC.



